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1. The quotient of (2522 +50ab+25b%) +(—5a—5b) is

(i) (=4a-5b) (ii) (=5a-5b) (iii) (=5a-2b) (iv) (=5a-8b) (v) (—6a-5b)

2. Factorize(9x2 —15x—-14)

(i) 3x=7)(x+2) (ii) 3x=7)(4x+2) (iii) (3x=7)(5x+2) (iv) (3x=7)(3x+2) (v) (3x—=7)(2x+2)

3. The quotient when (=578 + 7—3) is divided by (2 +6f+8) is
(i) (—8F+30) (i) (=57/+30) (i) (-=27/+30) (iv) (=6f+30) (v) (—47+30)
4. (8x*+10x3) +2x2

(i) (4x2+6x) (i) (4x2=5x) (iii) (3x2+5x) (iv) (=4x2+5x) (V) (4x2+5x)

5. Factorize 4 a3 — 494

(i) (2a-7)(2a%2+7) a (i) (2a+7)(7a=2)a (i) (2a+7)(2a%+7)a (V) (2a+7)(2a-7) a

() (28%+7)(7a-2) a

6. The quotient when(9e2 —2e—-2)is divided by(e+6) is

(i) (7e=56) (ii) (8e—56) (iii)) (9e—56) (iv) (10e—56) (v) (12e—56)

7. (36x°—84x +7x3+37x% —4x—4) divided by (-6 X3 +13x%2 —x—2) =

(i) (=6x2—x+2) (ii) (—6x2+2x+2) (i) (—=6x%2+2) (iv) (—6X2+x+2) (V) (—6x2+x—2)

8. Factorize(x2 +2xa—6x+ a2 —6a—27)

(i) (x+a—-9)(x—a+3) (i) (x—a+3)(x+a+9) (i) (x—a—=9)(x+a-3) (iv) (x+a+3)(x—a—-9)

(V) (x+a+3)(x+a-9)

9. If(4a—b+3c) XA =(16a2—8ab+24ac+b%—6bc+9c?),then A =

(i) (4a—4b+3c) (ii) (4a—b+3c) (iii) (3a=b+3c) (iv) (5a—b+3c) (v) (da+b+30c)

10. If(—a—3b) XA =(—a3—9a2b—27ab%—-27b3) ,then A =

(i) (2a2+6ab+9b2%) (ii) (a2+3ab+9b2) (iii) (6ab+9b2) (iv) (a’+6ab+9b%) (v) (a®+9ab+9b?%)

11. Factorize (42Xy+48y2)

(i) 6y (—=7x—8y) (i) 6x(7x+8y) (iii) 6y (7x—8y) (iv) 6y (7x+8y) (V) 6x(7x—8y)
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Factorize a2C2 - b2 C2 - a2 d2 + b2 d2

(i) (a+ b)(a—b)(c+ d)(b—d) (i) (a+ b)(a—b)(b+ d)(c—d) (i) (a+ b)(a— b)(c+ d)(c— d)

(iv) (a+ b)(a—)(c+ d)(c—4d) (v) (a+)(a—)(b+ d)(b—d)

Find the prime factorization of27

G 33 i) 32 i) 1 (v) 3% (v) 63

(Ax*+8x3+4x%) + (X% +x)

(i) (4x2—4x) (i) (—4x%+4x) (i) (4x2+4x) (iv) (3x2+4x) (V) (4x2+5x)

Which of the following is not a factor of 39x4y524 ?

(i) 33224 (i) 3x4°2 (i) 3xMAA (iv) 32 (v) 3x4)02

Factorize (7)(+3y)2 + 2(7x+3y)(4x+2y) + (4)(+2y)2

() (11x450)° (i) (12x450)2 (i) Gx+p2 (V) (Tx+3))(4x+2)) (v) (=32

Factorize (6a—66)° + (66—4¢)° + (4c—6a)°>

(i) 3(6a—6b)(6b—4c)(4c+6a) (ii) 3(6a+6b)(6b—4c)(4c—6a) (i) 3(6a—6b)(6b—4c)(4c—6a)

(iv) 3(6a—6b)(6b+4c)(4c+6a) (v) 3(6a—6b)(6b+4c)(4c—6a)

The quotient of(64a3+96a2b+48ab2+8b3) +(4a+2b)is

(i) (178%+16ab+4b%) (i) (16a%2+19ab+4b2) (i) (16a2+16ab+4b%) (iv) (15a%+16ab+4b2)

(v) (16a2+14ab+4b2)

If(—2a+2b) XA =(4a%2—8ab+4b2) ,then A =

(i) (=2a+5b) (ii) (=2a=b) (iii)) (=3a+2b) (iv) (=2a+2b) (v) (—a+2b)
Which of the following is an irreducible factor of29x2y52?

(i) z (i) y*z (i) x2)222 (iv) X2y (v) xzZ?

Factorize (16 a2 +24ab+9b2 )

(i) (3a+3b)(3a+3b) (ii) (5a+3b)(5a+3b) (iii) (4a+5b)(4a+6b) (iv) (4a+3b)(4a+3b)

(3x4-10x3-104x2—64x) + (x2—4x—32)

(i) (=3x2+2x) (i) 3x2+x) (i) (3x2=2x) (iv) (3x2+2x) (v) (3x2+3x)

(v)

4ada



23. The quotient of (12583 —b3) + (5a—b) is
(i) (24a%+5ab+b%) (i) (26a2+5ab+b2) (iii) (25a%2+5ab+b%) (iv) (25a%2+7ab+b?)

(v) (25a2+3ab+b?)

24. If(3a+b) XA =(27a3+b3) ,then A =

(i) (9a%2+b2) (i) (9a2—3ab+b?%) (iii) (9a%2—-6ab+b2) (iv) (10a2-3ab+b2) (v) (8a2—3ab+b?)

25. (24x*) A +ax3 )ty +2x2)2 =
() (12x3)3+2xy2) (i) (12x2)2+2xy32) (iii) (12x2)2+2xy2) (iv) (12x3)y*+2x)2)

(v) (12x2y2+2)3)



Assignment Key

1) (ii) 2) (iv) 3) (ii) 4) (v) 5) (iv) 6) (iii)
7) (iv) 8) (v) 9) (ii) 10) (iv) 11) (iv) 12) (iii)
13) (i) 14) (iii) 15) (v) 16) (i) 17) (iii) 18) (iii)
19) (iv) 20) (i) 21) (iv) 22) (iv) 23) (iii) 24) (ii)
25) (iii)
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